00 |ekv 52F700,800 000 | -

TOYOBO ENGINEERING CO.,LTD [AD-400x 280mm!

15=9. 81[KA-Sym. ]

T T 6KV CV-T Cablel
52F70 52F80 nooo
VCB 50/51F700 FUJI VCB 50/51F800 FUJI 38sq 0.32[p F/Km]
%7_2KV 600A |00 00 3.003.504,004.505.006.0 %7_2KV 600A |00 00 3.003.504,004.505.006.0 100sq0 0.45[p F/Km]
00000 (@ 0.00) 00000 (@ 0.00) 150sq0 0.52[u E/Km
Dooo 65 [A] G1) 3¢.3W 60Hz 0ooo 65 [A] G2 30 31 60Hz q [u ]
6600V 1000 KVA 6600V 1750 KVA 200sqd 0.51[p F/Km]
000000000 R=0.88,5=0.84,T=0. 88[KA] ACG/ “sookw (Pf=0.8) 000000000 R=0.45,5:0.40,T=0.45[KA] ACG/ 1400w (PF=0.8)
676-F700 FUJI T 676-F8001 FUJI T %K\é CDV_DT ?able[l
0,000 0.10.2:0.4-0.6-0.8-1.0 ot 0,000 0.1-0.2:0.4-0.6-0.8-1.0 o7 10 w O DO A/K
0.000 2508g7.5010 0 o FLr, ci-s1 OoD000 250500750100 200/5Af=Ip G2-51 ’ Dwz 60[ ]
D000 000@0.0)0 5 0000 000(0.0)0 5 (IE)DDT[DDD[F/Km]
} VCB } VCB 0066000V 3
}: %7.2KV 600A }: %7.2KV 600A 38sq0 0.4597[A/Km]
$ye (12-54) vy (12.5¢) 100sq0 0.6464[A/Km]
6KV CV-T 100sq (Cable span:400m) S BKV CV-T 150sq (Cable span:460m) J 150sq 0.7470[A/Km]
1g= 780 [MA]U 2590[mA] ( 19=1030 [mA]U 3440[mA] { 200sq0 0.7326[A/Km]
6KV CV-T 38sq (Cable span: 50m) 6KV CV-T 100sq (Cable span: 80m)
800[DNKN], 87[A 1400[DVKI , 153[A _
Ig= 70[[mA]]D ZSOEm;IA] Ig= 15t[> [mA}D 525[%,;] %K\é %VDT (Ilgble[l
1g0 (30 10)x1o
o . . 4. . [BOOBOODED) .. . . j_ . oooOooOOGOOOO) oo
! | RGl—89R T ! I ZLLT 81678 j
‘ \ 3P-DS 3P-DS ‘ ‘ 3P-DS ‘
‘ 7.2KV 400A 7.2KV 400A ‘ ‘ 7.2KV 400A ‘
‘ ; ' 3P-DS 1
71-52R 81-52R
‘ } VCB 7.2KV  71-51RO MITSUBISHI-MOC[97039] ‘ ‘ } VCB 7.2KV  81-51RO 7.2KV 400A 81-67R ‘
; J: 600A(12.5KM0 00 0 3.003.504.004,505.006.0 ; ; J: 600A(12.5KME0 0 0 3.003.504.004.505,006.0 Oo000 010204060810 |
‘ 000D0O0(@ 0.00) ‘ ‘ 000D0O0(@ 0.00) 0,000 2.505007.5010 O ‘
0000 LOCKD 200,300 400 5001 60 [A] 0000 LOCKD 20013000 400 5001 60 [A] 0000 000(@0.0)0
| 2-CT . — - - - — —
O 0 O 2005 | 2058 000000000 R=0.88,5:0.84,T=0.88[KA] T T s e F 81R 000000000R=0.45,520.40,T=0. 45[KA]
‘ ooooo 40 |5t ‘ ‘ ooooo 40 | 200541, ‘
1 (00000 ndio 71-67R0] MITSUBISHI-MOV[93509] 1 (50000 ndio
‘ ; = 0,000 0.10,2:0.4-0.6-0.8-1.0 ‘ ‘ ‘
1 ol = 10,000 2575007.5010 0 1 1 1
‘ 2CT-T D000 000(@O0.0)0 ‘ ‘ ‘
! 15=8. 36[KA-Syn.] ‘ ‘ 15=8.36[KA-Sym.] ‘
Lii S/S_?l 1677 [DHKI 1590[A]777777777J Lii 8/8_81 534[DNKI 48.0[A] 77777777777777J
15=8.36[KA-Sym.] 15=8.36[KA-Sym.]
000 0000 00000000 0000
000000000 R=0.88,520.84,7=0.88[KA] 000000000 R=0.45,520.40,7=0.45[KA]
000000000000000 000000000000000
TR-71-1 (3W) R=2.12,5=2.112,T=2.12[KA] TR-81-1 (3W) R=1.58,5=1.58,T=1.58[KA]
1500KVA (20) R=1.59,5=1.06,T=1.59[KA] 1000KVA (2W) R=1.19,5=0.79,T=1.19[KA]
TR-71-2 (3W) R=0.53,5=0.53,T=0.53[KA] TR-81-2 (3W) R=0.53,5=0.53,T=0.53[KA]
150KVA (2W) R=0.40,5=0.26,T=0.40[KA] 150KVA (2W) R=0.40,5=0.26,T=0.40[KA]
TR-71-3 (u-v) R=0.48,5=0.48[KA] TR-81-3 (u-v) R=0.48,5=0.48[KA]
75KVA (u-0) R=0.24,5=0.24[KA] 75KVA (u-0) R=0.24,5=0.24[KA]
TR-71-4 (3W) R=1.25,5=1.25,T=1.25[KA]
750KVA (20) R=0.94,5=0.63,T=0.94[KA]
6KV CV-T nnnsq(O O [m])
DMKWO O OO0 O 0O [Kw]
Olg0000o0ooo[[mA]
O IsO Sym.0 0 O O [KA]
goooboooboobogoo
doddxOoooood
goooooooo
u-vO 1@ 200V O O
u-oJ 1¢ 100V O O
O3wh3¢ O0O0O0
Oo2wo3¢ OO0ODO
0OO00Onn/5A000)
goooou
OO0O0Onn/5A000) 200409/05 D
0ogf ooooo 00000000000 000l 0oooo 0oooooooooo oo u} 0000 Dmea No.
A | 2008.06720 [SEE T i B Sl R S R a ey B oodoo 0000000000 000000000 DINS-MCK-0308
A | 2004.08/21 |cooooooooo }ﬁ,&sﬂ‘u’ booo oooooog —_
| A | 2004.11/09 Jarse o oo 10100 0o0o0o0o0ooo0ooOooooan 2004.05/15 00000 6KV-52F700,800 O 0O 000 OCRIDGRO O O E-978.

—
TOYOBO ENGINEERING CO.,LTD [A-400x 280mm]
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